


Question 1-

(i) 7x2 - 31x + 30 = 0

(ii) 7y2 - 26y + 24 = 0

(i) x > y

(ii) x < y

(iii) x  ≥ y

(iv) x ≤ y 

(v) x = y or relation can’t 
be established,



Question 2-

(i) 3x2 + 11x + 10 = 0

(ii) 7y2 + 12y + 5 = 0

(i) x > y

(ii) x < y

(iii) x  ≥ y

(iv) x ≤ y 

(v) x = y or relation can’t 
be established,



Question 3-

(i) 4x2 + 16x + 15 = 0

(ii) 6y2 + 25y + 11 = 0

(i) x > y

(ii) x < y

(iii) x  ≥ y

(iv) x ≤ y 

(v) x = y or relation can’t 
be established,



Question 4-

(i) p – 169 = 0

(ii) q2 – 169 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q

(v) p = q or relation can’t 
be established,



Question 5-

(i) p2 + 5p + 6 = 0

(ii) 2q2 – 11q + 15 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q

(v) p = q or relation can’t 
be established,





Question 6- P can do a piece of work in 20 days and Q in 30 days. They 

work together for 7 days and then, both leave the work. Then, R alone

finishes the remaining work in 20 days. In how many days will C

finish the full work?

प्रश्न 6- P किसी िार्य िो 20 किनों में और Q 30 किनों में िर सिता ह।ै वे 7 किनों िे किए 

एि साथ िाम िरते हैं और किर, िोनों िाम छोड़ ितेे हैं। किर, R अिेिे शेष िार्य िो 20 

किनों में परूा िरता ह।ै C परेू िाम िो कितने किनों में परूा िरेगा?

A. 28 days

B. 20 days

C. 48 days

D. 56 days

E. None of these





Question 7- A person have milk at cost 80 per liter. In what ratio must he 

mix water so there is a profit of 11.11%  after selling the mixture on its cost 

price.

प्रश्न 7- एि व्र्कि िो िधू 80 प्रकत िीटर िी िर से कमिता ह।ै उसे पानी िो किस अनपुात में 

कमिाना चाकहए ताकि कमश्रण िो उसिे क्रर् मलू्र् पर बेचने िे बाि 11.11% िा िाभ हो?

A. 4:5

B. 5:6

C. 9:1

D. 1:8

E. None of these





Question 8- A man divided his money in two parts such that amount on first 

part at 30% per annum simple interest for two years will be equal to the 

amount on second part at 20% per annum simple interest for 3 years. Find in 

which ratio man divided his money.

प्रश्न 8- एि व्र्कि अपने धन िो िो भागों में इस प्रिार कवभाकित िरता ह ैकि पहिे भाग पर 

राकश 30% प्रकत वषय िी िर से िो वषय िे किए साधारण ब्र्ाि िसूरे भाग िी राकश िे बराबर 

होगी 20% प्रकत वषय 3 वषों िे किए साधारण ब्र्ाि िी िर से। ज्ञात िीकिए कि व्र्कि ने अपने 

धन िो किस अनपुात में कवभाकित किर्ा? A. 1:1

B. 1:2

C. 2:3

D. 3:4

E. None of these





Question 9- ?2 – 28 – 11 = 9.09% of 396 + 286

प्रश्न 9- ?2 – 28 – 11 = 396 िा 9.09% + 286 

A. 21

B. 29

C. 19

D. 13

E. None of these





Anuja owns 6623%6623% of a property. If 30% of the property that she owns is worth Rs. 1,25,000, then 45% of the value (in Rs) of the property is

Question 10- √196 × √144 × 20% of 500 = ? + 1256

प्रश्न 10- √196 × √144 × 500 िा 20% = ? + 1256

A. 12644

B. 14644

C. 23544

D. 15544

E. None of these





Question 11- A certain sum of money with certain rate of simple interest 

becomes double of itself in 10 years. Find the compound interest on Rs 

15,000 with same rate of interest for 2 years.

प्रश्न 11- साधारण ब्र्ाि िी एि कनकित िर पर िोई कनकित धनराकश 10 वषों में िगुनुी हो िाती 

ह।ै 2 वषों िे किए समान ब्र्ाि िर िे साथ 15,000 रुपर्े पर चक्रवकृि ब्र्ाि ज्ञात िीकिए।

A. Rs 3150

B. Rs 2150

C. Rs 2250

D. Rs 3050

E. None of these





Question 12- A can contains a mixture of two liquids A and B is the ratio 

7:5. When 36 liter of mixture are drawn off and the can is filled with B, the 

ratio of A and B becomes 7:9. How many liter of liquid A was contained by 

the can initially?

प्रश्न 9- A में िो तरि पिाथय A और B िा कमश्रण 7:5 िा अनपुात ह।ै िब 36 िीटर कमश्रण 

कनिािा िाता ह ैऔर किब्बे िो B से भर किर्ा िाता ह,ै तो A और B िा अनपुात 7:9 हो 

िाता ह।ै प्रारंभ में िैन में कितने िीटर तरि A था?

A.100 L

B. 110 L

C. 105 L

D.115 L

E. None of these
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